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FEROLAR - ABE MBS0 R FRBRTES PRKMET

(A) 3675 n=1 n=2 n=3

(B) 3825 A &

(C) 7500

(D) 7803 [113C20]
Ans * (B)
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W AE 2018 AT L~k 50 LR K AR R 0 R 2023 B4R SR - B0 BRIR 0 VT A
HR AR B — Bk 60 7T o % SRR 60 FU T AR Ay sA R 4B [ R A R r B ATAANRE - AL - T
WF P HRA K3 ELEF T

(A) 50xr° =60 (B)50x(1+r) =60 (O)S0x(r+r"+r~ +r" ++°)=60

(D)SOx[(1+7)+ A+ +A+7Y +Q+7) +1+7)]=60 [112C13])

Ans 1 (B)
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ChaF 8] (a,) B HHEa =2 7 Arbr=3 > 28 n B AR 2022 - Bl % R A6 iR L&

Bn="
(A)5S  (B)7 (©)9 (D11 [111C02])

Ans 1 (B)
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Tom—2 6 kF—1 54
A — -~ b: ~ = * \I 1| & ‘Ji’fa _]}_ ?
= ;2111—1 §2k+1 ¢ i35 AT F] £ Ao 1k
Mbzaze  Byeza=b  (Oera=b  Dya=b=e [110C06]
Ans T (D)
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FHEEZFAIA I OMBEBERGE B ORKEAFTERT] - X485 938%HEB 4N
B4 13847348 B4 4 A HA % REIREHS 100 1@ 7
(A0 Bl (©12 (D)13 [ 109C09]

Ans 1 (B)
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Cho{a} BEEHIIBHR >0 > a;=3a, A EnkhE ¥ o MEHAR?
(A)14  (B)15 (C)16 (D)17 [108C13)

Ans 1 (C)
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10
> (2" +3n+2)=7?

n=1

(A)1268  (B)1298  (C)2017  (D)2231 [107C13]

Ans 1 (D)
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Wa- b cZHBELET bR a+tb+c=9R "+ +c" =189 > B Z i dEhH= 7
(A)—6 (B) -2 (C) % (D)6 [106C13])

Ans T (A)
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Tasbroc~die~FRERFEWLES - Hsat+c+e=108 - b+d+ =84 - Al d =5 %
Ay 7
(A6 (B)9 (C) 16 (D)32 [105C13])

Ans 1 (C)
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Char B Ed a~b o d B— 58P 0 2a+b=20 > a+h+c+d=65 Bla=?
(A5 B6 (©7T (D)8 [104C18)

Ans 1 (D)
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1 \ ,, 0560 .
H-FLBBOE RS 4 ’z}tt%—g ’ ﬁnlﬁfﬂ%% P Al n ZAE AT Y

A7 B (©9 (D)10 [ 103C04]

Ans 1 (B)
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Wa b cZEEMLHTIEHR > Hbate=36 > Za b 12 BB EEHF B2 b ¢
ZEARFHES - BT FIAUE AT R D
(A) b+c=32 (B) a+b=12 (C) b*=2c (D) 2b=a+12 [103C22])

Ans T (A)
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K102 3] 2013 2 /M - BB F A 7 ey - g b f 468 7
(A) 190 (B) 191 (C) 192 (D) 193 [102C01])

Ans 1 (B)

158



EREF2, 20,18 Roat4, 2, a+THLFLET] > AT 547 F 2k 7
(A) —6<a<—4 (B) —4<a<-2 (C) 2<ax<4 (D) 4<a<6
[101Ci7])

Ans 1 (B)
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BprqghMRLEY Ho A—HEZHIMEnRA - Fa,=q  a=p  Ala,, =7

Ao Bp ©qg D) ptg [98C13]

Ans T (A)
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